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[Question ID = 801][Question Description = Q1_Bengali_SH1_5et1_A]
1. 1 [Option ID = 3201]
2. 2 [Option ID = 3202)
3, 3 [Option ID = 3203]
4, 4 [Option ID = 3204]

2)
“ta! A (SR 3 2 TR— 33 TG T T ST STMOE (7 R O A=
fﬂﬁ'ﬁ:
(1 ®= 2) e
3 =3 (4) e

[Question ID = 802][Question Description = Q2_Bengali_SH1_5et1_A]
. 1 [Option ID = 3205]
2 [Option ID = 3206]
3 [Optien ID = 3207]
. 4 [Optien ID = 3208]
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[Question ID = 803][Question Description = Q3_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3209]
2. 2 [Option ID = 3210]
3. 3 [Option ID = 3211]
4, 4 [Option ID = 3212]
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[Question ID = 804][Question Description = Q4_Bengali_SH1_5et1_A]
1. 1 [Option ID = 3213]
2. 2 [Option ID = 3214]
3. 3 [Option ID = 3215]
4. 4 [Option ID = 3216]
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' [Question ID = 805][Question Description = Q5_Bengali_SH1_Set1_A]

1. 1 [Option ID = 3217]
2. 2 [Option ID = 3218]
3. 3 [Option ID = 3219]
4, 4 [Option ID = 3220]
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[Question ID = 806][Question Description = Q6_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3221]
2. 2 [Option ID = 3222]
3. 3 [Option ID = 3223]
4. 4 [Option ID = 3224]
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[Question ID = 807][Question Description = Q7_Bengali_SH1_5et1_A]
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. 1 [Optien ID = 3225]
2 [Option ID = 3226]
3 [Option ID = 3227]
. 4 [Option ID = 3228]
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[Question ID = 808][Question Description = Q8_Bengali_SH1_5et1_A]
1. 1 [Optien ID = 3229]
2. 2 [Optien ID = 3230]
3. 3 [Option ID = 3231]
4. 4 [Option ID = 3232]
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[Question ID = 809][Question Description = Q9_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3233]
2. 2 [Option ID = 3234]
3. 3 [Option ID = 3235]
4. 4 [Option ID = 3236]
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[Question ID = 810][Question Description = Q10_Bengali_SH1_5et1_A]
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. 1 [Optien ID = 3237]
2 [Option ID = 3238]
3 [Option ID = 3239]
. 4 [Option ID = 3240]
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[Question ID = 811][Question Description = Q11_Bengali_SH1_5Set1_A]
1. 1 [Option ID = 3241]
2. 2 [Option ID = 3242]
3. 3 [Option ID = 3243]
4, 4 [Option ID = 3244]
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[Question ID = 812][Question Description = Q12_Bengali_SH1_Set1_A]
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. 1 [Opticn ID = 3245]
2 [Option ID = 3246]
. 3 [Option ID = 3247]
. 4 [Option ID = 3248]
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[Question ID = 813][Question Description = Q13_Bengali_SH1_5et1_A]
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. 1 [Opticn ID = 3249]
2 [Option ID = 3250]
3 [Option ID = 3251]
. 4 [Option ID = 3252]
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[Question ID = 814][Question Description = Q14_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3253]
2. 2 [Option ID = 3254]
3. 3 [Option ID = 3255]
4. 4 [Option ID = 3256]
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[Question ID = 815][Question Description = Q15_Bengali_SH1_5et1_A]
1 [Option ID = 3257]
2 [Optien ID = 3258]
3 [Option ID = 3259]
4 [Option ID = 3260]

o R

16)
= BT RTE R 59 S9N Al FES6 BF-98E T8aY (ST T

(A)  ERE A R ST I
B) A CTSATH 35 [AAE ST T4 A FOI4 20 916 Wi S feaiae|

(C) FOEIT SO (A AT ARE SEE By SRR 4 A Prafee, aodaE s gl a1 s9@
HEFeae] [Fe (7 (ARG (72 TS|

D) AR IEET—IAEH 19T @IeF FE RAET 6 T TR I IR
(B) ReREs I SEEd S§hIRd (OF 21|

98 NP (A-faeglbre Taio 493 8%, (16 29

(1) (F3TA BARC (2) (FFEB,.CAD

3) (I C. DARRE (4) (#99D.E a9 A

[Question ID = 816][Question Description = Q16_Bengali_SH1_5et1_A]
1. 1 [Optien ID = 3261]
2. 2 [Optien ID = 3262]
3. 3 [Option ID = 3263]
4. 4 [Option ID = 3264]
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[Question ID = 817][Question Description = Q17_Bengali_SH1_5et1_A]
1. 1 [Option ID = 3265]
2. 2 [Option ID = 3266]
3. 3 [Option ID = 3267]
4. 4 [Option ID = 3268]
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[Question ID = 818][Question Description = Q18_Bengali_SH1_5et1_A]
1. 1 [Optien ID = 3269]
2. 2 [Optien ID = 3270]
3. 3 [Option ID = 3271]
4. 4 [Option ID = 3272]
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[Question ID = 819][Question Description = Q19_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3273]
2. 2 [Option ID = 3274]
3. 3 [Option ID = 3275]
4. 4 [Option ID = 3276]
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[Question ID = 820][Question Description = Q20_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3277]
| 2, 2 [Option ID = 3278]
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| 3. 3 [Option ID = 3279]
4. 4 [Option ID = 3280]
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Topic:- Bengali_SH1_5et1_B
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[Question ID = 821][Question Description = Q21_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3281]
2. 2 [Option ID = 3282)
3. 3 [Option ID = 3283]
4. 4 [Option ID = 3284]
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[Question ID = 822][Question Description = Q22_Bengali_SH1_Set1_B]
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3 [Option ID = 3287]
. 4 [Option ID = 3288]
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[Question ID = 823][Question Description = Q23_Bengali_SH1_Set1_B]
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. 2 [Optien 1D = 3290]

3 [Option ID = 3291]

. 4 [Option ID = 3292]
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[Question ID = 824][Question Description = Q24_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3293]
2, 2 [Option ID = 3294]
3. 3 [Option ID = 3295]
4. 4 [Option ID = 3296]
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[Question ID = 825][Question Description = Q25_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3297]
2. 2 [Option ID = 3298)
3, 3 [Option ID = 3299]
4. 4 [Option ID = 3300]
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[Question ID = 826][ Question Description = Q26_Bengali_SH1_5Set1_C]
1. 1 [Optien ID = 3301]
2. 2 [Optien ID = 3302]
3. 3 [Optien ID = 3303]
4. 4 [Option ID = 3304]
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[Question ID = 827][Question Description = Q27_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3305]
2. 2 [Option ID = 3306]
3. 3 [Option ID = 3307
4. 4 [Option ID = 3308]
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[Question ID = 828][Question Description = Q28_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3309]
2. 2 [Option ID = 3310]
3. 3 [Option ID = 3311]
4, 4 [Option ID = 3312]
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[Question ID = 829][Question Description = Q29_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3313]
2. 2 [Option ID = 3314]
3. 3 [Option ID = 3315]
4. 4 [Option ID = 3316]

7% (-7 (T FlRer RfsT oo S o, 3 ==

(1) saws (2) arpe FfJer
3 e serelme 4) aTET

[Question ID = 830][Question Description = Q30_Bengali_SH1_5Set1_C]
1. 1 [Option ID = 3317]
2. 2 [Option ID = 3318]
3. 3 [Option ID = 3319]
4, 4 [Option ID = 3320]
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[Question ID = 831][Question Description = Q31_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3321]
2. 2 [Option ID = 3322]
3. 3 [Option ID = 3323]
4. 4 [Option ID = 3324]
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[Question ID = 832][Question Description = Q32_Bengali_SH1_Set1_C]
. 1 [Option ID = 3325]
2 [Option ID = 3326]
3 [Option ID = 3327]
4 [Option 1D = 3328]
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[Question ID = 833][Question Description = Q33_Bengali_SH1_5Set1_C]
1. 1 [Option ID = 3329]
2. 2 [Option ID = 3330]
3. 3 [Option ID = 3331]
4. 4 [Option ID = 3332]
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[Question ID = 834][Question Description = Q34_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3333]
2. 2 [Option ID = 3334]
3. 3 [Option ID = 3335]
4. 4 [Option ID = 3336]
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[Question ID = 835][Question Description = Q35_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3337]
2. 2 [Option ID = 3338)
3, 3 [Option ID = 3339]
4, 4 [Option ID = 3340]
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[Question ID = 836][Question Description = Q36_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3341]
2. 2 [Option ID = 3342]
3. 3 [Option ID = 3343]
4. 4 [Option ID = 3344]
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[Question ID = 837][Question Description = Q37_Bengali_SH1_5Set1_C(]
1. 1 [Option ID = 3345]
2. 2 [Option ID = 3346]
3. 3 [Option ID = 3347]
4, 4 [Option ID = 3348]
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[Question ID = 838][Question Description = Q38_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3349]
2. 2 [Option ID = 3350]
3. 3 [Option ID = 3351]
4. 4 [Option ID = 3352]
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[Question ID = 839][Question Description = Q39_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3353]
| 2. 2 [Option ID = 3354]
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4. 4 [Option ID = 3356)
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[Question ID = 840][Question Description = Q40_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3357)
2. 2 [Option ID = 3358]
3. 3 [Option ID = 3359]
4. 4 [Opticn ID = 3360]
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[Question ID = 841][Question Description = Q41_Bengali_SH1_Set1_C]
. 1 [Option ID = 3361]
2 [Option ID = 3362]
3 [Option ID = 3363]
4 [Option ID = 3364]
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[Question ID = 842][Question Description = Q42_Bengali_SH1_Set1_C]
. 1 [Option ID = 3365]
2 [Option ID = 3366]
3 [Option ID = 3367]
. 4 [Option ID = 3368]
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[Question ID = 843][Question Description = Q43_Bengali_SH1_5Set1_C]
. 1 [Option ID = 3369]
. 2 [Option ID = 3370]
. 3 [Option ID = 3371]
. 4 [Option ID = 3372]
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[Question ID = 844][Question Description = Q44_Bengali_SH1_Set1_C]
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[Question ID = 845][Question Description = Q45_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3377]
2. 2 [Option ID = 3378)
3, 3 [Option ID = 3379]
4. 4 [Option ID = 3380]
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[Question ID = 846][Question Description = Q46_Bengali_SH1_5Set1_D]
1. 1 [Option ID = 3381]
2. 2 [Option ID = 3382)
3. 3 [Option ID = 3383]
4. 4 [Option ID = 3384)
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[Question ID = 847][Question Description = Q47_Bengali_SH1_5Set1_D]
1. 1 [Option ID = 3385]
2. 2 [Option ID = 3386)
3, 3 [Option ID = 3387)
4, 4 [Option ID = 3388]
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[Question ID = 848][Question Description = Q48_Bengali_SH1_Set1_D]
1 [Option ID = 3389]
2 [Option ID = 3390]
3 [Option ID = 3391]
4 [Option ID = 3392]
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[Question ID = 887][Question Description = Q87_Bengali_SH1_5et1_E]

1. 1 [Option ID = 3545]
2. 2 [Option ID = 3546]
3. 3 [Option ID = 3547]
4. 4 [Option ID = 3548]
38)
TP FIGT- 9T TSR PTG A4 S ST SIFPTT TAFE TURT S ACH A (T8I 77
T A9 S8y SIFE ey NPTy Re #9493
eI 1 woifee 2
(2) {2 SFW o= TR 20 (i)  WEEETEE
(b) SIFRITT faRE T (i) feerEs:
) FfefEfs crenfat o e & (iii) SEAFHN
) i TR [ (iv) ¥ferSABE:
V% R 3T To@d [Feat =

1y (-G, (b)-(ii). (¢)-Gv). (d)-G)

2 (@)D, B)-Gv). (0)-G), (D-(iii)

(3 (a)-Gid), B)-{), (e)-(Gv), (d)-(i1)

4 (2)-(iv), (b)-(ii). (e)-G). (d)-(i)
[Question ID = 888][Question Description = Q88_Bengali_SH1_5Set1_E]
. 1 [DOption ID = 3549]
. 2 [Option ID = 3550]

1
2
3. 3 [Option ID = 3551]
4. 4 [Option ID = 3552]

39 :
Vv AT A ANE PRI TH-ADG I (ST 37

(A) 3 STEET (TS ST AT (F H G () (R NI STais 351 St
B) T ST BER AN [ (AT (FA0S et St (I S|
(©  IAETH IR = (T I26 AT (40 6128, Cife 77 “(slizele sFaer
D) TR AT AT TR TS|

(E) (o7l (onme (sl 9571 TSy T0fs sisfee)

Vs e (I-faTaite st wag o, (e o=
(1) @FETABAITC (2 @FTEC.D ARRE

(3) ($397B.D ARE 4) (@FE9FA.CI3D

[Question ID = 889][Question Description = Q89_Bengali_SH1_5et1_E]
1. 1 [Optien ID = 3553]
2. 2 [Optien ID = 3554]
3. 3 [Optien ID = 3555]
4. 4 [Option ID = 3556]

40)
e 2 8 ST SR TATFET IFRFIES 180 8 IFRFNEE T (T8 T

s2F AT foely eifferd My e Ay $4m 24

BIfe T 1 ) 2

(2) Binfor 8 5 Rt WP wiSTEE SFA @ RraEmnes
(b) FAFENT TS o1 ST ARNFOT el Gi)y =fRwE
(¢) R AN 96 71E AT (i) frew

a— b a—

prepp

Your Personal Exams Guide



www.prepp.in

Q) EAE (D179 RIS #4,99 (PN av) omge
() FFIFASIATPIoeEFEHEFAcGISE (v) JeEs
0 REE 5% Sowd FFaf =
D (@G, b)-(v), (©)-F). (d)-G), (¢)-@ii)
@ @A), (b)-(v). (e)-(). (d)-(idd). (e)-(id)
B3 (@), (b)-(i), ()-(iv), (D)-(v), (e)-()
@ (2@, (b)-(v), (0)-G), (d)-Gi), (e)-(iv)

[Question ID = 890][Question Description = Q90_Bengali_SH1_5Set1_E]
. 1 [Option ID = 3557]
. 2 [Dption ID = 3558]
. 3 [Option ID = 3559]
. 4 [Option ID = 3560]

1
2
3
4

41)

(&)

(B)
©)
D)
(E)

TR 15-5F] (T TG TG BT-IT8GF NaGT (8T =7

' SEINE} ARFTT P Wod ST FASD FFITE T Srud TEL (FF T 250
A - 92 =N

S SEE TWaer (1 srfb se1f4s xafeer wEmeT 7hem)

AR AR gt FlRifaal 2 s foaed e smatasy SIga|
'S I AT TRAT TR0 IRAT SAT 5% Fefer= e ¢[)
"THH TRAFT SR ST TPEF TET S b0 (U B9 Mk TG

13 @S (A-[ATgiore T waT BT, OIi6 =0

(1)
(2)
(3
(4)

(FITA, B AT C
(F971B.C 4z D
FFC.DARE
FTTADIARE

[Question ID = 891][Question Description = Q91_Bengali_SH1_Set1_E]

e B

42)

. 1 [Option ID = 3561]
2 [Option ID = 3562]
. 3 [Option ID = 3563]
4 [Option ID = 3564]

RATE ST AT MG I BF-IT0F FIT (ST T

&)
®)
©
D)
(E)

0y
@
3)
Y

TR ST (G S GRS SR KT SO 52 FFTel|
QT A FREHES S593 3 SR Ja 75 o |

S TR SYlE AW SEd] S W Jould =i fa)
BT S e g

STRTCAET NI A oot ol |

93 @ (A-ATaiore 9916 Ned 8%, (6 =9

(F9TA B aAskD
(FITA. D SRE
(¥4 B, C A3 D
(FITB.CATRE

[Question ID = 892][Question Description = Q92_Bengali_SH1_5et1_E]
| 1. 1 [Option ID = 3565]
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| 2. 2 [Option ID = 3566]
3. 3 [Option ID = 3567
4. 4 [Option ID = 3568]

43)

FITNT TPTE-TMAl TP TG FEF6 BF-T8T 7638 (ST TT:

(&)
®)
©
D)
(E)

ST AT S0, SEFH 7@ 95 PTET @41 'Fai e geite w@fae

(ST SRS (ST IS TG AT TS TS| TGP WET SIEATS (ST » S |
SET-HMAT S35l FAT XA TN TS TR GEITENIE |

SIFEE DO (T S (0T 9939 ey A1+ ol =1 (A 93|

RAEESE SeT IES 5] FNCE A5 feTe s |

V3 Ne (I-fasaltme 99t wa<y oy, ¢t ==

@
@
(3)
@)

(FITA. B AgC
(FITA, C ARD
(T B, C AR E

(FFTA.DARE

[Question ID = 893][Question Description = Q93_Bengali_SH1_5Set1_E]
1. 1 [Option ID = 3569]
2. 2 [Option ID = 3570]
3. 3 [Option ID = 3571]
4. 4 [Option ID = 3572]

44)

SSTSTHI FATTEIRIR T ST SAT e A6 BG-G9 FIaT (ST 3T

Y
®)
©
D)
)

Fifera T3 6 N 4T6 FE G SBS F216 [Efeee)
AhSsHaR =G TeEIa e G Biafee
'STR-&fE-T S (MR THA7S |

"SI FCTIPLF PIAAS FoPIH b |

saa TWEe (7-Feaite w9t vgay oy, o6 =

@
2
(3
4

(FITA CARRD
FFB. C AN E
(FITA.D ARE

(F9B.CAx3 D

[Question ID = 894][Question Description = Q94_Bengali_SH1_5Set1_E]

oL B

45)

. 1 [Option ID = 3573]
. 2 [Option ID = 3574]
. 3 [Option ID = 3575]
4 [Option ID = 3576]

A TR ABF (P FEP0 LN ST 91 2

(&)
B)
(©)
)
(E)

A - ATEEP
SARIGTw CNENTEE AfEg
SEWEE | WEE AT
¢t osf

BT STE 9P $5%

AET T (9 55 70 o5 fea o

(1

B.D.C A E 2) BACED

& i e k| e FRFRY a ~a u k™ ™
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=y

iy, W, L, Ly, B3

vE)

LA e, A, L, L

[Question ID = 895][Question Description = Q95_Bengali_SH1_5et1_E]

1. 1 [Opticn ID =
2. 2 [Opticn ID =
3. 3 [Opticn ID =
4, 4 [Optien ID =

46)

3577]
3578]
3579]
3580]

s 97 TSl OifersTa AWy s Ay Fa0e 3a:

(a)

(b)

(e

CY

(e

D
)
3
“

B 1

qe

BT =TT

@A

@ B Soma et =

ki LTCRR S £

(a)-(iv), (b)-(v). (e}-(11), (d)-(3), (e)-(iid)
(a)-(iid), (b)-(iv), (c)-(), (d)-(v), (e)-(ii)
(2)-(it), (b)-(iii), (c)-(D), (d)-(v), (e)-(iv)
(a)-(iit), (b)-(iv), (0)-(v), (A)-(3). (&)-(iD)

it

(i)

(111)

(iv)

)

'S5’ AT SR SEPI0 FIASTE AW § & TAF0r 3947 ¢ &SI eI ® owa = |

BIfTPT 2

A JETH Y IR TSI
TS MG TH TSI (BT
ClGE R GRYGET G

BISEA (F19 WTE (57 S
T T &S S
SAFPH IET T

T "R FE1 A S&
B (ST T (B

[Question ID = 896][Question Description = Q96_Bengali_SH1_Set1_E]

1. 1 [Opticn ID =
2. 2 [Optien D =
3. 3 [Optien D =
4, 4 [Optien ID =

47)

3581]
3582]
3583]
3584]

FATARAS 5 ST A N FIST6 BG-T8G FI (TSI 7T

TSI AL FINA (A TN T RFS F ST ST |

T3] (YT SAPTT SPT (TIRET (T Rorses ST AT, S1 =Ry 6|

AT TBFANST A6 foreat ToeT ST TR AT (FRAT SIS SFB] SRR SA
ST RS R ST S T, Swos |
SRATEAARY (&9 NG STA T OT TR I PT% (I B0 (70,057 ©FF (216 (I 47

Y
®
©
D)
(E)

s STEe (F-REafie 1a9e b veay 55, ¢oift =1

(D
3)

(FITB.C 9 E
(FITA CATD

(2) @FITC.DARE

(4)

(FITA B AR D

[Question ID = 897][Question Description = Q97_Bengali_SH1_Set1_E]

bl B

48)

. 1 [Optien ID =
2 [Opticn ID =
3 [Opticn ID =
4 [Option ID =

3585]
3586]
3587]
3588]

5% AT AR T PG 6T S BIWE TR A TAFE D06 3 ety SifFaE (837 79|
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1T AT 61T Sife e JIy s (&= Fame 19

Sl 1 ST 2
(a) (== @)  Slawa 5T o seeE $2 MSATIE ?
(b)) = (M) (TG TS @ AT TS|
(AT T SreT T3-T3 FE|
(00 =1 (i) FEE G o Ft ohas 7@
(d) e Gv) SHEETS @ TR S @EE (A T AqE--
798 (S [OF So@Ed fFeale ==

1) (@-G@). b)-Q). ()-1v), (d)-(ii)

2 (-G, b)-G). (©)-v), (d)-Gi)

3  (@-(v), (b)-(iid), (¢)-G), (d)-Gi)

@) (-G, ;b)-Gv), (9-G), ()-G)
[Question ID = 898][Question Description = Q98_Bengali_SH1_5et1_E]
. 1 [Option ID = 3589]
2 [Option ID = 3590

]
3 [Option ID = 3591]
. 4 [Option ID = 3592]

-

49)
"GHSUIA ST ST (W T 76 S (s 3 =, MF 9T w9 8 TG OF TCE A

NI ;. SAISE IA SFTSTAT AT AT o o1 2 SR 8 TAFTT (G 5T (5

IF (@ STOEE W (N T ST ST SF (|
Teras it R sfaufine e snee Be Soaft ==

(1) BT e e Tenkide
@ b e E e e
3 e e e gfeh e

@) 5 ¢ Yfe S g

[Question ID = 899][Question Description = Q99_Bengali_SH1_5Set1_E]
1. 1 [Option ID = 3593]
2. 2 [Option ID = 35%94]
3. 3 [Option ID = 3595]
4. 4 [Option ID = 3596]

20)
GRS § AT 59 FRpIaet AiE 96 [Agfe (mean =1

ey - Reeifsa grna T Fked T [Rgs, e i o a6 a3
RS : 5 I SEHd WO N PR Ted 2T |

S it fgfen e Aea w@we BF Soaft =

(1 Toxffe: e
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[Question ID = 900][Question Description = Q100_Bengali_SH1_S5et1_E]
1. 1 [Optien ID = 3597]
2. 2 [Option ID = 3598]
3. 3 [Option ID = 3599]
4. 4 [Option ID = 3600]
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Topic:- GP6_D1_SH1_Set2_A

1) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population|(10+2 Categury]kﬁraduate Category)
A 60 5:6 53
B 50 3:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

aferent @ sierRiel w3 et gesl @ 3ae SifSe :
frrafelaa aferast o o181 & ey & anenz az A, B, C, D 3z E uia sl & siersiw=n o1 Raser gftrora Rar s 3

US4l o ATSeIsil Wl AU

15 (iR storeizean of gferere | (10+2) 9uft | somaa ot
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Suppose the population of State A is 1 million, count the number of graduate females in State A
A 31571 it stz 10 ara #ret at A s # T sfdonsi & A e § 7

[Question ID = 1851][Question Description = $2_qSNz_PG_GP6_0Q01]
1. 2,15,000

[Option ID = 7401]
2. 2,25,000

[Option ID = 7402]
3. 2,30,000

[Option ID = 7403]
4, 2,20,000

[Option ID = 7404]

2) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population){10+2 Category]l{ﬁraduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

BT 1 Aol @2 forsar ool &5 3w dfem ;
forraifertian anferat o foren a s & amenz uz A, B, C, D sz E uiw a2t &Y serzizen o1 faawer gitrem e sem 2
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gaul o Af¥ensil ast AeTeard

mﬁﬁaﬂaﬁmmasrqﬁmﬂ (10+2) 9uft | 3o Uit
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5id 4:3
D 45 6:5 4:2
E 41 4:3 3:2

If the male population in the 10 + 2 category is Z million in State B, then the total population of State B is
afe wrse B 3 10+2 gpoft &bt geu seraz=n 20 e 3, ot wsa B &t wa sadiw 3

[Question ID = 1852][Question Description = $2_qSNz_PG_GP6_0Q02]
1. 8 million/8 Bitwmr

[Option ID = 7405]
2. 6 million/é Bferm

[Option ID = 7406]
3, 7 million/7 Bitrmr

[Option ID = 7407]
4. 9 million/9 Biferm

[Option ID = 7408]

3) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex, Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population|{10+2 Category]kﬁraduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

KRBT Bl 3ERIe o2 o el @ Inz & |
forraifertian anferant f foremm a e & amenz uz A, B, C, D sz E uiw a2t &Y sersizsn o1 faawer gitrem e sem 2

gHl T ARl D JAIURT

ml@ﬂéﬁmaﬂqﬁwm (10+2) Jpit | Taraw gpft
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

What will be the difference between the male population in the (10+2) category and the male population in the Graduate
category if the total population of State C is 4 million.

afe 35 C @l e srersiz=n 40 o &, < (10 + 2) ojwfi bl gz s AR Foires g)vil & geu sresis=n # Reasir sz giem ?

[Question ID = 1853][Question Description = $2_qSNz_PG_GP6_0Q03]
1. 73,000

[Option ID = 740%]
2. 70,000

[Option ID = 7410]
3. 75,000

[Option ID = 7411]
4. 74,000

[Option ID = 7412]

4) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population){10+2 Category]l{ﬁraduate Category)
A 60 5:6 95:3
B 50 5:5 5:2
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C 35 933 4:3
D 45 6:5 4:2
E 41 4:3 3:2

BT 1 ae2eIol @2 forsar ool &5 Iz dfem ;
forraifertiaa anferast & forem a s & amenz uz A, B, C, D sz E uiw a2t &Y serzizsn o1 faawer gitrem e sem 2

qaul o Af¥ensil wt Awreard

mﬁﬂmﬁmaﬂqlﬁ{aﬁ{ (10+2) guit | vorrare gpfil
A 60 5:6 5:3
B 50 5:5 52
C 35 L 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Which state will have the highest number of female population {(in the Graduate category), if the population

of each state is 1 million?
7fe g wrsa &t srerziwn 10 arm B o vonaw goft & Bva ssa & afden sreeiwar waiftes st -

[Question ID = 185%4][Question Description = 52_qSNz_PG_GP6_0Q04]
1. A

[Option ID = 7413]
2. B

[Option ID = 7414]
3:C

[Option ID = 7415]
4. D

[Option ID = 7416)

5) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population|(10+2 Category]kﬁraduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

IeRBI I 3ERIe &2 oga el @ Iz dfemw |
forgmterliaa miferast & faten a é=1 & amenz az A, B, C, D sfiz E uia w2l &6 sreriz=n @1 faawur girer e srm 2

gHl T AR D AAIURT

roer [RIf storizear @t gftrerd | (10+2) dpft | sommrs goft
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Find out the total number of females in the Graduate category in State D (Total population is 2 million ) and

State E (Total population is 1 million)

= D (o storzizn 20 ara ) 30z 39 E (el stersizn 10 o 3) 3 rowass 9ol 3§ sifgerait &Y oot s qan & 7
[Question ID = 1855][Question Description = $2_qSNz_PG_GP6_Q05]

1. 4,50,564

[Option ID = 7417]
2. 4,20,890

[Option ID = 7418]
3. 4,64,000

[Option ID = 7419]
4. 4,50,660
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[Option ID = 7420]

Topic:- GP6_D1_SH1_Set? B

1) How many channels are there in the Swayam Prabha bouquet ?

T 30 § oo dea & ?
[Question ID = 1856][Question Description = $2_qSNz_PG_GP6_0Q06]
1..23

[Option ID = 7421]
2. 32

[Option ID = 7422]
3. 43

[Option ID = 7423]
4. 34

[Option ID = 7424]

2) Which among the following is an incorrect action verb for comprehension level?
ufssim e @ o reilifiaa A 31 oia il som orfcas gen & ?

[Question ID = 1857][Question Description = §2_qSNz_PG_GP6_Q07]
1. Convert/oi¥aria

[Option ID = 7425]
2. Applaud/gsim

[Option ID = 7426]
3. Paraphrase/sngm@e

[Option 1D = 7427]
4, Summarize/aAsndamn

[Option ID = 7428]

3) Given below are two statements

Statement I: Classroom assessment of learning, particularly beyond the early elementary grades has been based almost
exclusively

on paper and pencil tests, which indicate, rather than measure, what children have learned.

Statement |l: Authentic tests do not ask learners to display their skills and behaviours in the way they will be displayed
outside the

classroom in the real world.
In light of the above statements, choose the most appropriate answer from the options given below
i1 Q) e Re smw 3 ;

oerel - | 1 fagiues: anfies e 331 & At AP &1 Sl AbGas ARSI Jeled HU 2 Dk 3z ool udtegn az aenfyd 2 ot gragy
U I AT

D FUTA UR {ADA el & [b gl of o= Himr 2

wad - || 1 graniires adian 3 spnf= 3 sraot wivia iz SasR @ 339 Yool yovic 3u @ 0w adl ol S 8 St J @il H a2 Bt
arzatas glorm #

rery
RN Gl & s 3, i Ry famedl 3 3 w8 sz o ava Hifsmwe ;

[Question ID = 1858][Question Description = 52_qSNz_PG_GP6_Q08]
1. Both Statement | and 5tatement [l are correctfoeem | iz || S 52 &

[Option ID = 7429]
2. Both Statement | and Statement Il are incorrect/wmem | iz || Sl oot &

[Option ID = 7430]
3. Statement | is correct but Statement Il is incorrect/mem | 22 3, freg wea || wiew £

[Option ID = 7431]
4, Statement | is incorrect but Statement [l is correct/wem | 7o £, fveg wem || =2t 8

[Option ID = 7432]

4) Direct instruction strategies are indispensable for achieving content mastery, and over learning facts, rules and action
sequences, ldentify the correct sequence for the direct instructional sequence for learning mastery.

A. Monitor and diagnose progress
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B. Teach/ re-teach

C. Provide feedback

D. Present new content

E. Practice

Choose the correct answer from the options given below

Fraaasg A urekTdn iz ae=al ormil a ©rl gzl © Aitrr e bt giff & e geag e il abarl 3 urerr (arcdl) alfem
27 Yrast AMoje 9l gjzaan bl ustel Hifars |

A, yfa &t orereht a forcrer

B. areaer / gon: aemder

C. gfagfec owen

D. o faea aq ygd Sl

E. strma

ol 12w a1v taascal 3F 31 7 FT @1 oo DI @

[Question ID = 1859][Question Description = $2_qSNz_PG_GP6_Q09]
1, B,E,A CD

[Option ID = 7433]
. D,B,E, A, C

[Option ID = 7434]
. A D,E C,B

[Option ID = 7435]
C,E B, DA

[Option ID = 7436]

%) Match List | with List Il

List | List Il

A, Classical conditioning

I. Albert Bandura)

B. Operant conditioning

I, lvan Pavlov

C. Social learning theory

lll. Lev Vygotsky

[y, Constructivism

IV. B. F. Skinner

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR

et | ot -l
A. aerebla sfelaserol | srcad miga

B. Roargza selascia |II. Fdiol Uil
C. wBrs sftwm Pigin 1. 2rr ariabas
D. zizrmmER IV, 4t uw. fiwon

sl 1o oo Repedl & 31 w16l o= gfene :

[Question ID = 1860][Question Description = $2_qSNz_PG_GP6_0Q10]
1. A-LB-IILC-N,D-1¥

[Option ID = 7437]
2. A-N,B-1,C-1V,D-I

[Option ID = 7438]
3. A-1L,B-1V,C-1,D-1I

[Option ID = 7439]
4. A-IV,B-1,C-1,D-1l

[Option ID = 7440]

6) The values which explain how closely the variables are related to each one of the factors discovered are known as
3ol Pl ®I [ipa1 =4 # aIra1 =1 & i AE Tuse Txl & ke a7 Fil 518 Yrakb o 3 [iedell lorpear 31 Fdilea & ?

[Question ID = 1861][Question Description = §2_qSNz_PG_GP6_Q11]
1. Factor-loadings/@ws mem

[Option ID = 7441]
2. Yate's correction /ST o ssiter

[Option ID = 7442]
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| 3. Deliberate sampling/=ligsz gicm=e

[Option ID = 7443]
4. Kruskal-Wallis test/@e=ra - mfitra wismr

[Option ID = 7444]

7) The process which involves the construction of an artificial environment within which relevant information and data can
be generated is called as

U3 @ioEr uf¥der &I Foe ol arcll Yion oI a1 et ol & o siiae dera Fael i aimsl &l srata &I o 7<) 7

[Question ID = 1862][Question Description = 52_gSNz_PG_GP6_Q12]
1. Inferential approach/gzasndt suemr

[Option ID = 7445]
2. Experimental approach/griEnr suem

[Opticn ID = 74456]
3. Simulation approach/g=urT 0P

[Option ID = 7447)
4, Qualitative approach/sprrr 3usm

[Option ID = 7448]

8) Given below are two statements

Statement I:  Only phenomena and hence knowledge confirmed by the senses cannot genuinely be warranted as
knowledge.

Statement Il: Science must (and presumably can) be conducted in a way that is value free.

In light of the above statements, choose the correct answer from the options given below

oifl o ware R smw 3 &

werd - | @ sl o ygftc bt 13 uftacensii iz 3 o6 @ graes a A spitse s oiél @ar s roar 8
werd - || ; Risier ot aforaria: (3fiz d@eam:) e #7p @il 3 Fafor Reen st anfée

IUATE Bl & AT A, o Bu o1e Riescdl # 21 #dl 3wz @ aaa ifsm ¢

[Question ID = 1863][Question Description = §2_qSNz_PG_GP6_Q13]
1. Both Statement | and Statement || are true/wem@E | Stz | SEt e &

[Option ID = 744%]
2. Both Statement | and Statement [l are false /e | & 1| Sl spwer &

[Optien ID = 7450]
3. Statement | is true but Statement Il is false/m@ert | 37 &, Frog @ua |l opra 2

[Option ID = 7451)
4, Statement | is false but Statement Il is true/wem | sewa &, Mg wem || s &

[Option ID = 7452]

9) Which among the following assist a researcher as data collection tools?
A, Google Form

B. Survey Monkey

C. Microsoft Forms

D. NVivo

E. Blender

Choose the correct answer from the options given below:

fBroaforfior A 1 wier A ow oftenelf @ fore siiess oo, w6t At e @ wa 3 werrw ¥ 7
A. s o

B. ard wbt

€. asmedtee G

D. wor diat

E. siizz

il R o1e Rroseal 3 A 78 307 o awer St :

[Question ID = 1864][Question Description = 52_qSNz_PG_GP6_Q14]
1. A,Band Conly/@a= A, Baie C
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[Option ID = 7453]
2. B,Cand Donly/@aa B, C afiz D

[Option ID = 7454]
3. C,DandEonly/@a=a C, DaRE

[Option ID = 7455]
4, B,Dand Eonly/@aa B, D afiz E

[Option ID = 7456]

10) Match List | with List Il

List | List Il

I. An approach to the relationship between theory and
research in which the latter is conducted with
reference to hypotheses and ideas inferred from the
former.

A. Empiricism

Il. General approach to the study of reality that
B. Indicator [suggests that only knowledge gained through
experience and the senses is acceptable.

\Itll. A form of reasoning with strong ties to induction
hat grounds social scientific accounts of the social
world in the perspectives and meanings of participants
in these social worlds,

C. Deduction

IV, A measure that is employed to refer to a concept

D. Abduction ; : ;
when no direct measure is available.

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 @R iR

ot -1 et -l

A.

N |, Brgia a eier & dfa & zider @& gfer sue@ B Brgia 2t

forfdnT yrroouer a Rl o JogH & oner fewr soen 3

B. I, wrafcrm o5 seers @ gitn e 3w S FJoa o S B
s [ 3gpd d sfogell o s A afola st & =itert §

lll. Faden @ ues U ST gardel 3 ISIgelt A F51 3 St A glorn

E @ e dsnfers dwmmi @ ufsg 3 iz g s gl #
ORI roftorit b aref ot sitsenr
D. IV, o Ul Ficscaer & sz DA a5zor oI IURT 5IF ®IE Yeaasl IUrT

UG (IO of Bl

iy Rw o1e faseal i 31 7é 3w gfew

[Question ID = 1865][Question Description = $2_qSNz_PG_GP6_Q15]
1o A ML B 1, €0 IV, D=

[Option ID = 7457]
2. A-1L,B-1¥,C-1,D-1I

[Option ID = 7458]
3. A-LB-ULC-1,D-1V

[Option ID = 7459]
4, A-IV,B-1L,C-11,D-1

[Option ID = 7460]

11) Diagonal communication is

fepoff Hgoor

[Question ID = 1866][Question Description = 52_qSNz_PG_GP6_Q16]
1. Latent/smrr &

[Opticn ID = 7461]
2. Agoresive /o &

prepp
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[Option ID = 7462]
3. Cross-functional/aim: gemfas &

[Option ID = 7463]
4, Non-functional/3iz ywrirae £

[Option ID = 7464]

12) The means of non-verbal communication are :
A. Spoken language

B. Time language

€. Sign language

D. Space language

E. Written language

Choose the correct answer from the options given below:
317 - gnfcsw WU @ WA 2 :

A. e @l HIeI

B. w9 sirar

C. b sman

D. Femer (FA31) iraw

E. faf¥am s

ol f8u a1e Rrpeal 3 31 w18t 3ae @l o=am ifans :

[Question ID = 1867][Question Description = $2_qSNz_PG_GP6_0Q17]
1. A, Band C only/dam A, Bafiz C

[Option ID = 7465]
2. B,Cand Donly/@aa B, C iz D

[Option ID = 7466]
3. D,CandEonly/@a=m C, DaRE

[Option ID = 7467]
4, A, Dand Eonly/sam A, D3z E

[Option ID = 7468]

13) Given below are two statements

Statement I: The semiotics of Charles Pierce cannot be called a Theory of Communication,

Statement ll: Charles Pierce prepared a system of concepts with a common basis of expression and narration,
In light of the above statements, choose the most appropriate answer from the options given below

il <1 eI R sy 3

ool - | 1 acd Rrrd & dda fasme o FJuvr o Brgia @& o a1 woar 2

et - || ; aresd firyed of afircafs a anesiel & Jane anenz &t Facaenail Bt uds guiredt d=e &bt

IURRD DGl D Aehid H, oiky fdw 71e fampedl # 3 38t 31z @1 =RIol S

[Question ID = 1868][Question Description = 52_qSNz_PG_GP6_Q18]
1. Both Staterment | and Statement [l are correct/wmwem | iz 1l el =t &

[Optian ID = 7449]
2. Both Statement | and Statement Il are incorrect/mem | iz || Sl oot &

[Option ID = 7470]
3. Statement | is correct but Statement Il is incorrect/wem | a2 3, fireg e || 7ma 2

[Option ID = 7471]
4, Statement | is incorrect but Statement [l is correct/wem | 7w 2, fveg wem || w2t &

[Option ID = 7472]

14) The correct sequence of communication contexts is:
A. Temporal

B. Physical

C. Social

D. Cultural
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E. Psychological

Choose the correct answer from the options given below
HYGUT FoHT w1 AST A 2 -

A. rarit

B. siiffrn

C. amkrr

D. wirgpirs

E. smiisiors

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 1869][Question Description = $2_qSNz_PG_GP6_0Q19]
1. B DG, Eu A

[Option ID = 7473)
2. C,E,D, A B

[Option ID = 7474]
3. D,A, B, EC

[Option ID = 7475]
4. A, C,B,D,E

[Option ID = 7476]

15) Match List | with List Il

Example ICommunication

A. Rehearsing the messages to send to others. |I.Group communication

B. Writing a letter to a friend |II. Intrapersonal communication
C. Talking to a team of 5 to 10 persons |III. Mass communication

D. Message from one source to many anonymous receivers.lw. Interpersonal communication.

Choose the correct answer from the options given below;

et -1 ot et <11 3 it i

et -| et -
(3c1820T) (zitmT gjvit)
A. gl ot rerel @ Rre wdei wr gafvams |. @gs HAduor
B. firg @1 uq ferzon 1, sroea: Gafipe
C. 5 3 10 =afep=l &t Eo A @ @wen 1. s1o1 sem=
D. o JId 2 ok ST It D Fsaor 1V, afez dufepas

a1k fon oo Repedl & 31 w18t o= giene :

[Question ID = 1870][Question Description = $2_qSNz_PG_GP6_0Q20]
1. A-IV,B-1,C-1Il,D-1I

[Option ID = 7477)
2. A-LB-ILC-N,D-1Y

[Option ID = 7478]
3. A-1L,B-IV,C-1,D- 1

[Option ID = 7479]
4. A-NL,B-IV,C-11,D-I

[Option ID = 7480]

16) What number comes next in the following sequence?
1, 2.25, 6.25, 16, ?
foramfertian srgpmm & arerell sz @ it 7

1, 2,25, 6.25, 16, ?

[Question ID = 1871][Question Description = 52_qSNz_PG_GP6_Q21]
1. 26.25

[Option ID = 7481]
2. 36

[Option ID = 7482]

prepp
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[ 3. 3.5

[Option ID = 7483]
4. 38.25

[Option ID = 7484]

17) How old is Ravi if in 8 years time he will be twice as old as he was twenty years ago?

e 8 ad age R Bt sy sadt 20 ad g &5 g & goren 9 S sxen AR, A e st sy Resh 3 7

[Question ID = 1872][Question Description = $2_qSNz_PG_GP6_0Q22]
1. 56

[Option ID = 7485]
2. 48

[Option ID = 7486]
3. 28

[Option ID = 7487]
4. 26

[Option ID = 7488]

18) Vipul said to a lady, " Your mother's husband's sister is my aunt,” How is the lady related to Vipul?

faget o wo #lden A oar, “Aracbl Aw o uler & "gol Afl e 7 ag alden Riga 3 ko gor Adide & 7

[Question ID = 1873][Question Description = §2_qSNz_PG_GP6_Q23]

1. Aunt/faiz

[Option ID = 748%]
2. Mother/ai

[Option ID = 7490]
3. Brother/yE

[Option ID = 7491]
4, Sister/uzar

[Option ID = 7492]

19) Given below are two statements

Statement I: In one minute, the minute hand of a clock moves 5°,

Statement II; In one minute, the hour hand of a clock moves 1°,

In light of the above statements, choose the correct answer from the options given below

o5 &) weot Re s 3 ;

averot - | 1 v fhere 3 aft &t Bore archt 1F 5° word 3
averat - |l oo Brore 3 a3t &t 62 ach 51f 1° aodt 3
I wuell @5 srales &, i Ry se el # A a8t saz o waa G @

[Question ID = 1874][Question Description = 52_qSNz_PG_GP6_Q24]
1. Both Statement | and Statement |l are true/mem | & | giaf A &

[Option ID = 7493]
2. Both Statement | and Statement |l are false/mem | 33 || 36 T &

[Option ID = 7494)
3. Statement [ is true but Statement Il is false/wem | e &, fiveg wem 1 spwa &

[Optien ID = 7495]
4. Statement | is false but Statement Il is true/®ue | sera 3, Roog oot || s 2

[Option ID = 7496]

20) Which of the following statements isfare true?

A. 10% loss on selling price is an 8% loss on the cost price.

B. Swati bought a pen for Rs.100 and sold it at a loss of 25%. The price at which pen was sold is Rs.75.
C. Yaman purchased an item for Rs.250 and sold it for Rs.348. He made 38% profit.

Choose the correct answer from the options given below

foraotciliaa ool uz famz &hifemy @
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A, Rl oiara uz 10 % zifdr, oew &Hlaa uz 8 % wifer 3

B. zaift & 100 a1 3 vep wam méier sz 33 25 % &t afer uz S ow & Raft Blaa 5. 75 2
C. adel & 5 axg & 250 & =it afiz 33 & 348 3 I=r 33 38 % o g

oiial few s1e famscul 3 31 Al 3nz @1 aua il @

[Question ID = 1875][Question Description = §2_qSNz_PG_GP6_Q25]
1. Bonly/@aa B

[Option ID = 7497]
2. Band C only/aeT B diz C

[Option 1D = 7498]
3. Aand B enly/@aa AR B

[Option ID = 7499]
4, Conly/arrT €

[Option ID = 7500]

21) Match List | with List [l

List | List Il

Proposition in Square of OppositionResultant Proposition

A, If 'A' is True . 'I' is true; '0O' is undetermined.
B. If 'E' is False 1. 'E' is false; 'A’ is undetermined|
C. If 'I'is True Ill. 'E" is false; 'O’ is false

D. If 'O’ is False V. ‘A" is true; 'I' is true

Choose the correct answer from the options given below:

2 -1 B gt -1l A gAfera Hifw

et -| et -1
A, ufy A’ u@ B I I =@ 8 0" sl &
B. aif2 'E' wdY 2 II. E' srcier 3; ‘A’ aiforra 2
C.af ' =t & I, *E’ sxcm &; 'O 5w &
D. a0 =&t 3 V. ARy’ w@y

of foy a1e fascal & 21 w1t gae gione |

[Question ID = 1876][Question Description = §2_qSNz_PG_GP6_Q26]
1. A-1L,B-UL,C-1V,D-Il

[Option ID = 7501]
2. A-1L,B-1¥,C-M,D-1

[Option ID = 7502]
3. A-NLB-1L,C-1,D-IV

[Option ID = 7503]
4, A-I,B-I,C-1,D-1

[Option ID = 7504]

22) An inference when based on a middle term which is only positively related to the major term and the knowledge of
Vyapti between the middle and major terms is arrived at only through the agreement in presence is known as

3IOIATOL S U3 3¢ U3 nenfed Siar & Sil AR A Wud el WU 3 Halli 3l i s/ 3 a0 JET @ i <R @1 061 i Joikbl AT
FufFafer a5 anenz uz A, Tacal 8

[Question ID = 1877][Question Description = S2_qSNz_PG_GP6_Q27]
1. Kevalanvayi/=@oomrst

[Option ID = 7505]
2. Kevala-vyatireki/@am safenedt

[Opticn ID = 7506]
3. Anvaya vyatireki/ sea oafinent

[Option ID = 7507]
4, Sheshvat/dmaa

[Option ID = 7508]
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23) When the middle term is related to a minor term that stands not for any definite individual or class of individuals, but

indefinitely for all objects is known as

S T 3¢ Uer B ugl A Helt &l s el Bt calRe o safte <t gvll @1 ol aver aifoira v 3 w9l avqall @ e a1, al 331 = o

A E ?

[Question ID = 1878][Question Description = §2_qSNz_PG_GP6_Q28]
1. Sadharana Savyabhichara/awensor actdor

[Option ID = 7509]
2. Asadharana Savyabhichara/semmem el

[Option ID = 7510]
3. Anupasamhari Savyabhichara/muerert s=iEm

[Option ID = 7511]
4, Wiruddha/fsg

[Option ID = 7512]

24) Which of the following is NOT a necessary condition for a sentence to be meaningful?

Rt amra @ welo g0t @ e BoeftiRBaa # A o o sabrarci ord aff & 7

[Question ID = 1879][Question Description = 52_qSNz_PG_GP6_Q29]
1. Akanksha/sooien

[Opticn ID = 7513]
2. Yogyata/=lwTm

[Option ID = 7514]
3. Shakti/efer

[Option ID = 7515]
4. Sannidhi/afset

[Option ID = 7516]

25) The word 'Pen’ may denote either an instrument for writing or an enclosure for animals. Such a case may be

understood as a fallacy of

"Usl’ 9leG Wb Tl 3UMI0T A1edl Uolall @ 413 @1 Ja® & Addl 2 U A @ Suorfaliaa & A smar @1 miol AT $d JASAT 51 WD 8 ¢

[Question ID = 1880][Question Description = $2_qSNz_PG_GP6_Q30]
1. Accent/Fsr

[Option ID = 7517]
2. Equivocation/ZfGeerT

[Option ID = 7518]
3. Amphiboly/scrsiear

[Option ID = 7519]
4. Composition /s

[Option ID = 7520]

26) What is the MAC address?
draSaams?

[Question ID = 1881][Question Description = 52_qSNz_PG_GP6_0Q31]
1. A unigue number that identifies a device connected to the internet/smeke 3 32 =iy 5 usme aoa arlt o smo A=

[Option ID = 7521]
2. A unigue frame number required for error control/gfe Bridqul & B IEea® U e B I3

[Option ID = 7522]
3. A unigue number required for a port/dd @ P amserr v amew 0

[Option ID = 7523]
4. A unique address of a website/o® feaTse © @G WO

[Option ID = 7524)

27) What is parity checking ?
Hare 61 st (R aRkeer) a=n 3 ?

[Question ID = 1882][Question Description = $2_qSNz_PG_GP6_0Q32]
1. A method used te check that data has reached the destination /s stk & ffér &5 3w sived ae uha =1 8
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[Option ID = 7525]
2. A method to check whether data has been changed or is corrupted /=g aicet &1 &R 75 &ar =T ofakia @ sy (Fees) s 2

[Option ID = 7526]
3. A method to check that number is even or odd/=s Sicm & &iF fry @ == 2 @@ s

[Option ID = 7527]
4. A method to check that data is in serial or parallel order /= siiEs: @5t ftd 5 seT 9ot o9 31 & = T o ¥

[Option ID = 7528]

28) Which statement is NOT true for QR (Quick Response) codes?
Blel - AT T Y AR (Rraw i) o @ fw aca od £ 7

[Question ID = 1883][Question Description = §2_qSNz_PG_GP6_Q33]
1. There is no need for the user to write down or key-in a website address/sulPred (Jp0) @1 daerEe B et & 2 331 "6 g0’ Dol ©f SIF AEeTDel ol
2

[Option ID = 7529]
2. QR codes can store website addresses/ oy 307 W depise U234 w1 IR ol w wed &

[Opticn ID = 7530]
3. QR codes cannot hold digits/&w sw ®i= A ©f we a2 T3 7w &

[Option ID = 7531]
4. QR codes can be scanned anywhere/ =] anz == 1 ol o] THa fiear on w5 &

[Option ID = 7532]

29) Which statement is NOT true for Universal Serial Bus?
@iol - AT Bl Jforaza Hifwd aa & Re aca adt 8 7

[Question ID = 1884][Question Description = 52_qSNz_PG_GP6_Q34]
1. It is a synchronous serial data transmission method/ag somdia o (i) se doanr @&

[Option ID = 7533]
2. It is a four-wire shielded cable /s e o ol ditier a2

[Option ID = 7534]
3. Devices plugged into the computer are automatically detected/sreges # wer fbw s RaEs! o1 s9aq; gar oo S 8

[Option ID = 7535]
4. Several different data transmission rates are supported/== Rifea swE1 Faww o3 o 7 oaT &

[Option ID = 7536]

30) Which one of the following is NOT a sensor device?
Ziol-A1 W AaT Rasa i 3 7

[Question ID = 1885][Question Description = 52_qSNz_PG_GP6_Q35]
1. Burglar alarm system/diz - =2t Qe

[Option ID = 7537]
2. Control of street lighting /e &t affe=l @1 Bram

[Option ID = 7538]
3. Antilack breaking systems on cars/=nfE=i 3 4w o Brl oo 2eft gomht

[Option ID = 7539]
4. Microphone/s=® / AEEIRA

[Option ID = 7540]

31) According to Noise Pollution (Regulation and Control) Rules, 2000, the night time noise standard for commercial areas in
India is

eafor yguwr (Riforrae iz foriqun) form 2000 & sigRiz srzd # aifirfsas gl & fere afdiers cafor wers 2 :

[Question ID = 1886][Question Description = $2_qSNz_PG_GP6_Q36]
1. 65 dB

[Option ID = 7541]
2. 55dB

[Option ID = 7542)
3. 50dB

[Option ID = 7543]
4. 45dB

[Option ID = 7544]

32) The second highest concentration in biogas is that of

arPis i gad siftrran wey Roadt et 3 7
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[Question ID = 1887][Question Description = $2_qSNz_PG_GP6_0Q37]
1. Hydrogen sulfide/zEgwm Iewms

[Option ID = 7545]
2. Sulphur dioxide /FwGs sElfraRs

[Option ID = 7546]
3. Methane/@#ém

[Option ID = 7547
4, Carbon dioxide/sdds sEhiloass

[Option ID = 7548]

33) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A ; Natural disasters exacerbate poverty in developing countries,

Reason R: Developing countries lack national disaster risk strategies aligned to Sendai Framework,

In light of the above statements, choose the correct answer from the options given below

ofiY 1 e 2w s ¢ wop arfdroera (Assertion A) @ wu 3 aiiz g1 s owr (Reason R) & wa d ;

e (A) @ giaias smuee Roraefla ol A srildl agr et @

ol (R) @ Roraelia ol 3 sk Gaas 2 Hiftaa il anucr =i wieliierl o1 spna 2 2

IURITE Bl  AClkD A, i [dw fawedl # 31 718l saz o1 =@l Hifse |

[Question ID = 1888][Question Description = 52_qSNz_PG_GP6_Q38]
1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Sel 30 & 4z (R), (A) &5 38! sare=n &

[Option ID = 7549]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) 2igi = & uz=g (R), (A) &5 718 =ne=n =i &

[Option ID = 7550]
3. Ais true but R is false/{A) == & voeg (R) e 2

[Option ID = 7551]
4, Ais false but R is true/(A) spr=a 2 weg (R) w8

[Option ID = 7552]

34) Which of the following pollutants termed 'short-lived climate pollutants'?
A. Black Carbon (BC)

B. Methane (CH4)

C. Hydrofluorocarbons (HFCs)

D. Surface Ozone (03)

E. Carbon dioxide (COy)

Choose the correct answer from the options given below:
fBroafrfioe # 31 fver gooas] @) srcury Soryg gouw’ wed 8 7
A. wiico wrdor (BC)

B. fardiar (CHy)

C. sesmcRioEs (HFCs)

D. wradt airaiier (03)

E. o sssitaarss (CO3z)

i) f8u a1e Rrpoul 9 31 w18t Fne @l o=m ifans :

[Question ID = 1889][Question Description = $2_qSNz_PG_GP6_0Q39]
1. Band D only/aaw B = D

[Option ID = 7553)
2. B,Dand Eonly/&zarB, DSfis E

[Option ID = 7554]
3. A,B,Cand Donly/dwa A, B, Ci= D

[Option ID = 7555]
4, B, C,DandEonly/s5a= B, C,D4aiz E

[Option ID = 7556]

prepp
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35) As part of the Intended Nationally Determined Contributions, India’s target of 33-35% reduction in carbon emission

intensity by the year 2030 is sought to be achieved with reference to

sorfra redler Faw oz Gediya discier (5233 st Reangs wilegeia) @ asa ad 2030 oov andar sewsior & sy & 33 - 35 % odlt wwar
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o1 30w 1 agy Ryadd vicd # g wwen § 7

[Question ID = 1890][Question Description = 52_qSNz_PG_GP6_Q40]
1. 1990 levels/ 1990 &=

[Option ID = 7557]
2. 2005 levels/2005 ==

[Option ID = 7558]
3, 2015 levels/2015 =1z

[Option 1D = 755%]
4. 2020 levels /2020 7=

[Option ID = 7560]

36) A teacher of higher education must imbibe certain values and must:
A. act as an educator for the students

B. present an ideal of working with sincerity

C. love the subject and the students

D. effectively transmit information to students

E. use information and communication technologies while teaching
Choose the correct answer from the options given below:

Fca foren & f91ers @1 Sitaer #el & siforart wa A acHarT orer anf2v 3 33
A, ol @& 19 oP 91810 D U A Rl o aike

B. fororgd® ©RI w3l © Aol g wen gy

C. famrr aftr gl 31 Oa Elen anf2e

D. o]l 7P el B YHrand diids 3 YuoT Dol aif2y

E. aiezmuet a5 Siaiel Feloll d HYEI Glef3rdbl o1 giier owon aifau

ol 12w a1u taascal 3 31 7l FT @1 @l DI ©

[Question ID = 1891][Question Description = $2_qSNz_PG_GP6_Q41]
1. Band C only/sae B iz C

[Option ID = 7561]
2. Aand Bonly/sam A4 B

[Option ID = 7562]
3. Dand E only/@ae D dic E

[Option ID = 7563]
4, Band Eonly/®ma B Az E

[Option ID = 7564]

prepp
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37) The UGC has mandated a six-month module syllabus for UG courses for all branches of higher education with the

objective:

A. to implement CBCS in the true sense

B. to enhance knowledge, skills and attitude towards the environment

C. to provide first-hand knowledge on various local environmental aspects
D. to implement the order of Hon'ble Supreme Court of India

E. to protect the environment

Choose the correct answer from the options given below:

il of F=a forgn & il enEnil @ ferw gdvenas oRf @ i v o 116 © Ay Ugags oI AR [T § el s2ea & ¢

A, =h &t = vn @ FJE ARGl H AP BTl

B. wafazuor @ gfa o6, wierd iz al¥igiki o deloll

C. fafireor remefier vafawiia usll &1 grael Sior Yerar ool
D. si=d @ Aol Halea SRR @ AIG9T Bl d5] Dol
E. uafasm @1 33801 el

oflal 1w a1v taascal 3 31 7 T @1 oo i @

[Question ID = 1892][Question Description = $2_qSNz_PG_GP6_Q42]
1. Aand B only/dsma A B

[Option ID = 7565]
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| 2. Band C only/a@aer B &z C

[Option ID = 7566]
3. Cand D only/m C iz D

[Option ID = 7567]
4, Dand Eonly/@aa D afic E

[Option ID = 7568]

38) UGC has introduced CBCS for all higher education institution as:
Fafledl of Fnefl o= Mianr Avemodl & forg =1 = 2t ver sy Reem 2 aifcs |

[Question ID = 1893][Question Description = §2_gSNz_PG_GP6_Q43]
1. it has to implement percentage based evaluation rigorously/=3 giewm AR Hedicou B TR & AR 8], Tl &

[Option ID = 7569]
2. it has to prepare uniform syallbus throughout the country. /=3 2o 87 3 v FBIeT WoREA T2 ween &

[Option ID = 7570]
3. there is a need to allow the flexibility so that students can choose courses of their interests. /gl c=liict T &1 bR T & MR & il B et
Fil @ DIl gl I

[Option ID = 7571]
4, to bring transparency and uniformity in evaluation. /sg=mrre 3 st g w@Fwn o @1 =5

[Option ID = 7572]

39) Who among the following has the regulatory authority to grant recognition to open distance education courses?
b gxeel o180 DIz I HIedl Yglel Dol ol forrs giftrsr foe 3 A foad ara 2 ?

[Question ID = 1894][Question Description = $2_qSNz_PG_GP6_Q44]
1. IGNOU/ s

[Opticn ID = 7573]
2. MHRD/#rm JarE ferE S

[Option ID = 7574)]
3. UGC/fReaftwmre= g el

[Option ID = 7575]
4. DEB/=% €4t

[Option ID = 7576]

40) Match List | with List Il

List | IList I

A. Establishment of NAAC |I. 1969
B. Establishment of NCTE |lI.1992
C. Establishment of AICTE|iIl. 1995
D. Establishment of ICSSR [V, 1987

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR AR

et -| et -l
A. gor ¢ u i &t Fermgen [l. 1969
B. wot 3ft 41 § 6t Femaen . 1992
C. w s 7t & ¢ B ewaon . 1995
D. arg 3 ua v anz & Femaen |IV. 1987

a1k fon oo Repedl & 31 w18t o= giene :

[Question ID = 1895][Question Description = $2_qSNz_PG_GP6_0Q45]
1. A-ILB-1I,C-1¥,D-1

[Option ID = 7577]
2. A-L,B-1I,C-1,D-1IV

[Option ID = 7578]
3. A-NLB-IL,C-1,D-IV

[Option ID = 7579]
4, A-IV,B-1,C-1,D-1

[Option ID = 7580]

Topic:- GP6_D1_SH1_Set2_C
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1) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official's territorial jurisdiction, The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them,

off3r o a1e swerel B LRI Ul i gl & gaz SR ¢

BACTA TAAFNTE AFIPREDG FU A Serpl & aelkes waa iz aliroifel & sepfirer o s Jeit fafdrecansil & st 3 sirrss affreiiya
a Sl & dia Sl yreet soa: g o s o 2 wifafies wdiefa g sweranil & st - a3 fBeeT a swersil @ e Ren -
forcont 6 v It 2 Brel weeramnil sfiv afireii=il el & af2roRl 3z sIRral o1 foaevr G srn 3 sord $emorerdl, Komy @ w9 wmeR Az
ardfler a gerdlen @ fée wo sarrilin a foroug fopam - fafer enfirer 2 aifreonz - o 3 quf @ 78 aon, o & W&l AR oI HoE g forslar &
FFarer AT siiasfiaar @ srepzarer o it aflSor 3w iz oneifyet & dia fpalt ot siafigen @5 Rre 3 sscaget ¥ aveg o8 - Heppor © wmad
A fage wu A Aecayui

2913 @3 Ferz & Iur fatieer ®rul 3 s ge 2 fowwedl iz falreil o seanr  ofiz a afkta £ geme @ aers 3urdl ! mifga zarell & srot
3R g1 A Ty ol fpan swir e wrawen o agen HfreRI &F g orisw iy o & Samedt o gieaiBa aff e o1 gsawcatt
ol 3593 Aigha aiftema ofiz wiem gy (v ) Szl JisnBrbt @ yriter ofiv & fafen a gRoemen @ sifye so sfiv s s1ead A O 6 aawai
@t HAA BN 2 F AT B AUeiel & fore oy el ot yfifdea stz Ofra ozen don sl srcrani ot T3 Fd # gfa a fofdma
el BN Sor 3 Srowiwar wr #fdwa ® 1 % & wr T 3 waener © gier vos dsaz aga A, AR afltrr aeifie o © orR J st & gitgnsi
@l shilsar iz SamER! yde APl 96iel 2len gdiike Jud fasg onbl fausa ufifelrn 2

The new income taxpayer's charter reflects its
DFCRIRIT Bl wen AeR - v, forver 3 21 fopar corfer 2 ¢

[Question ID = 1896][Question Description = §2_qSNz_PG_GP6_Q46]
1. Territorial jurisdiction/ &R

[Option ID = 7581]
2. Legal character/fifier =iea

[Option ID = 7582]
3. Direct interactive nature/qrast siRpone ot

[Option ID = 7583]
4, Randomisation of tax payment. /osermal @ wefemaam

[Option ID = 7584]

2) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official's territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review, The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests, The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

oil) fev 21w smEnur @t samgde ufew siiz guat & Jaz i @

BATIA TATAUT HARKD FU A TIGHI3 B aeien @ i sifroifxl & Sqifeer o) soet stz Rifdrcani @ aeas 3 smros affreif=d
a Sl & dia & yreet soa: g o wom o B wifafies wdiafa g el & siteer - ug 3 [Beet a swersi & e Ren -

farcon Bt war eht & Rrawdt weeramil iz siftrpi=il Slell @5 affrrel v iRl w1 Brror Rar sren 8 word $aererdl, Reny @ wylRa wrase oiie
e a yordlen & e oo s a foreus Regn - [l onfier 2 aiftreeiz - a3 gl @ 8 g, o 6t #Et wfdt @1 FegeT q Bear &
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TFaret AT siiasfiaar @ srepzarer @1 it AfliSor 3w iz oveifyast & dia fpalt ot siafigen @5 Rre 3 sscaget ¥ aveg o - Heppor © wmad |
A g wu A Agrayget

291 @I Ferz & Iurd fatieer ®rwl 3 fowa ge 2 fowmdl iz falreil o sear  ofiz a akta 2 gene @ sk urd 1 oifga zareldl & srot
3R g1 A Ty ol fpan swir e wraven of agen HfrsR & g oriswr iy o & Samedt o geaBa aff e o1 gsawcatt
ol 3593 Agha aiftema ofiz wiem gl (v ) Szl JisnBrbt @ griter ofiv & ol a gRoemen @ sifye so sz s s1ead A O i s
@t HAIA SN 2 1F FATET B Aol & e o affeifEl ot yfifde sz Qfra owen don sl sreraril ot T3 Fdy # gfa a fofdma
O30l SIPN GoI 3 STorziseal o Adwa A 1 % & ow M outna @ givl v S ugd 3, iz afice aeiise o2 © ori 3 andel &3 gipani
<ol shiizar 3z $areierd ydo el Sl dleN Bicliks sod oy onbl faua ulifieiam 2

The charter is intended to ensure
MRFPIE - U @1 sucl fewailicifiaa =1 geifua oo 8 |

[Question ID = 1897][Question Description = §2_qSNz_PG_GP6_Q47]
1. Strict collection of tax/oed 3 = e

[Option ID = 7585]
2. Publicise tax payers list/mrormai o5 It © gant¥n owen

[Option ID = 7586]
3. Fair settlement of appeals/ i€l @& =IFIRE Fmm

[Option ID = 7587]
4, Maintaining public transparency/arlsierr unstdm w1 ageem

[Option ID = 7588]

3) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official's territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review, The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests, The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

oA fou oTe swErel G taERET ufye iz gl & Fae AR

BHCHA THIAHUT IFRKD HU A TIGHIIE & AEer =i 3 Rreiis & Sritrrr ®f ool siwl Rifdreearsii @5 a3 aIRroe Aldrpiisi
q Sl & dia & yreet soa: e o s o B wifafie wdiaf g sl & st - a3 fBee a swersil @ e Ren -
farcon Bt wars Iyeht & Rrawdi weeramit iz siftrpiR=il Slel @5 affrrel v iRl w1 Bror Rax srn 8 word $aererdl, Rery o vyt srase o
e a yertlen & e oo iR a foreust Rogn - [l enfier 2 aiftreeiz - ug 3 ol @ 8 goe, o 6 #Et afdt @1 JegeT a Bear &
FEArsT Hi¥ siasiiaar @ srepzarer o it AfliSor 3w iz oeifyat & d el 9t siafigen @5 Rre 3 sscaget ¥ aveg @@ - HAepor © wmad #
A g wa A Aeragei

o1 A @ ez & Jur fafiea wrvil 3 fiova ge § Bredl i fabre 6t sear  ofiz g afta £ 38 & sk saril ®1 Gifda sared @ wrut
3fer &1 21 oo, oidl fosan s o sraFen o agen aftreifRl & Jyp oriwwor it el B faerr Bt gieanfaa odf feen a1f usaaet
w1 329 avhtar uftera Az witw afy (v and) Siaft gienrebt @ geier iz o¥ Riffrd a gigzmt @ s sa i o sisad 3 O B i
I HAlPA ol & o3 cAaTell @l Aclel ® e &2 Al ol giofdm iz gfy owon gen iz wecramnil o 33 ddu # Pim a Bifdm
avzall BN Sor A Srowiwar o gdwa A 1 % & w3 S § waener @ gt v Asaz uga A, Al aftrr asifye o © ori # adSt o gftgensi
<ol *niir iz $Anicrl Ydm 31el Seiell S9N SIciikp oids sy onbl kKua uiiRerien &

One of the charter objectives is to
M2RBTE - Uy o1 JE9A E !

[Question ID = 1898][Question Description = §2_qSNz_PG_GP6_Q48]
1. Expose tax payers to the government/Z5@s @1 Trowril & wIeorl S

[Option ID = 758%]
2. Incentivise tax officials/ws airmirl o dvamsa 2o

[Opticn ID = 7590]
3. Protect tax payers from invasion of privacy/&rcmrmii & B & Sooita 3 3

[Option ID = 7591]
4, Safeguard the taxpayers from confidentiality mechanism /arrermmail @ sielim dq 3 axren

[Option ID = 7592]
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4) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official's territorial jurisdiction, The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them,

off3r o a1e swerel B LRI Ul i gl & gaz SR ¢

BACTA TAAFNTE AFIPREDG FU A Serpl & aelkes waa iz aliroifel & sepfirer o s Jeit fafdrecansil & st 3 sirrss affreiiya
a Sl & dia Sl yreet soa: g o s o 2 wifafies wdiefa g sweranil & st - a3 fBeeT a swersil @ e Ren -
forcont 6 v It 2 Brel weeramnil sfiv afireii=il el & af2roRl 3z sIRral o1 foaevr G srn 3 sord $emorerdl, Komy @ w9 wmeR Az
ardfler a gerdlen @ fée wo sarrilin a foroug fopam - fafer enfirer 2 aifreonz - o 3 quf @ 78 aon, o & W&l AR oI HoE g forslar &
FFarer AT siiasfiaar @ srepzarer o it aflSor 3w iz oneifyet & dia fpalt ot siafigen @5 Rre 3 sscaget ¥ aveg o8 - Heppor © wmad
A fage wu A Aecayui

2913 @3 Ferz & Iur fatieer ®rul 3 s ge 2 fowwedl iz falreil o seanr  ofiz a afkta £ geme @ aers 3urdl ! mifga zarell & srot
3R g1 A Ty ol fpan swir e wrawen o agen HfreRI &F g orisw iy o & Samedt o gieaiBa aff e o1 gsawcatt
ol 3593 Aigha aiftema ofiz wiem gy (v ) Szl JisnBrbt @ yriter ofiv & fafen a gRoemen @ sifye so sfiv s s1ead A O 6 aawai
@t HAA BN 2 F AT B AUeiel & fore oy el ot yfifdea stz Ofra ozen don sl srcrani ot T3 Fd # gfa a fofdma
el BN Sor 3 Srowiwar wr #fdwa ® 1 % & wr T 3 waener © gier vos dsaz aga A, AR afltrr aeifie o © orR J st & gitgnsi
@l shilsar iz SamER! yde APl 96iel 2len gdiike Jud fasg onbl fausa ufifelrn 2

Attempt at tax reforms have failed because of
o Pz @ YA o gu E =il

[Question ID = 1899][Question Description = §2_qSNz_PG_GP6_Q49]
1. Free regime of tax officials/&z afdesi=ll %1 gr cowmzen 2

[Option ID = 7593]
2. Hotch-potch implementation/ wrimrrrm deg s w2

[Option ID = 7594]
3. Too many players in the field /5 &% 3 sotr B aem 2

[Option ID = 7595]
4, Uneducated taxpayers/afafirn aoowrn &

[Option ID = 7596]

%) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official's territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review, The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests, The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

oil) fev 21w smEnur @t samgde ufew siiz guat & Jaz i @

BATIA TATAUT HARKD FU A TIGHI3 B aeien @ i sifroifxl & Sqifeer o) soet stz Rifdrcani @ aeas 3 smros affreif=d
a Sl & dia & yreet soa: g o wom o B wifafies wdiafa g el & siteer - ug 3 [Beet a swersi & e Ren -

farcon Bt war eht & Rrawdt weeramil iz siftrpi=il Slell @5 affrrel v iRl w1 Brror Rar sren 8 word $aererdl, Reny @ wylRa wrase oiie
e a yordlen & e oo s a foreus Regn - [l onfier 2 aiftreeiz - a3 gl @ 8 g, o 6t #Et wfdt @1 FegeT q Bear &
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TFaret AT siiasfiaar @ srepzarer @1 it AfliSor 3w iz oveifyast & dia fpalt ot siafigen @5 Rre 3 sscaget ¥ aveg o - Heppor © wmad |
A g wu A Agrayget

291 @I Ferz & Iurd fatieer ®rwl 3 fowa ge 2 fowmdl iz falreil o sear  ofiz a akta 2 gene @ sk urd 1 oifga zareldl & srot
3R g1 A Ty ol fpan swir e wraven of agen HfrsR & g oriswr iy o & Samedt o geaBa aff e o1 gsawcatt
ol 3593 Agha aiftema ofiz wiem gl (v ) Szl JisnBrbt @ griter ofiv & ol a gRoemen @ sifye so sz s s1ead A O i s
@t HAIA SN 2 1F FATET B Aol & e o affeifEl ot yfifde sz Qfra owen don sl sreraril ot T3 Fdy # gfa a fofdma
O30l SIPN GoI 3 STorziseal o Adwa A 1 % & ow M outna @ givl v S ugd 3, iz afice aeiise o2 © ori 3 andel &3 gipani
<ol shiizar 3z $areierd ydo el Sl dleN Bicliks sod oy onbl faua ulifieiam 2

The author of the passage suggests the following reforms in income tax collection:
A. Removal of vested interests

B. Training of officials to adopt the new methods

C. Introduction of machine learning and artificial intelligence

D. Compelling more and more people to pay taxes with tough measures
Choose the correct answer from the options given below;

AT HAEW f Fene @ e Aol & oae o el I3[ 2 !

A, forfga Faref @1 gewen

B. o faferdl ©l sraeio! @ fé1e sifreifyl o giofdnT oo

C. aofler sl a ofda gl (v anré) &1 AN won

D. &3 Jurit & wrd Al bl ol o ypEIae & e famer oo

i 2w a1 faescal 3f 2 78 ne gol ©

[Question ID = 1900][Question Description = $2_qSNz_PG_GP6_Q50]
1. Aand B only/dsma A3z B

[Opticn ID = 7597]
2. BandDonly/@aa B itz D

[Option ID = 7598)
3. Aand C only/@aa A iz C

[Option ID = 7599]
4, Band C only/saa B iz C

[Option ID = 7600]




